4428 / External View

¥JIL—27# L / Without roof unit

o

———————— I

BRKAZE / Components

[(x®&= : TY-34)2008.02.08

No. %# / Part name & / Pcs ME& / Material . ZEMALHE / Color- Finish
1 vy 77 /N—= / Top cover 1 A UD-A"2-p / Polycarbanate |34Mb- / Light gray
2 KT+ — / Base 1 NUD-RK-NT IAT74N\ - I4NT b=
Glass fiber filled Light gray
polycarbonate
3 (W=7 / Roof 1 B’/ PVC 4N b= / Light gray
PJJWU_J]I L (1 A7y b / Gasket 1 & Y903y / Polyurethane 73 / Black
| | 5 |7y # / Latfch 2 A770x / Stainless steel #38 / Unfinished
I S|l | 6 [mftx-2mERMS Xx 10) Lok = B0+
} . I Screw(M5 - 10) Steel Trivalent chromate
| V! F7-h"IT—% / Technical Data
REZMR / Protection class IP65
BREEEE / Operating temperature | -20C ~ +75C
L00 et 22 2/ Flammability class UL94V-=0
£k 181 JA
336
325 30
25x 11= 275
I_r \I—_.—_ ________ =I—@ _|=
:I OPOOPOOPOOOOODH II
| -© & |1
m e & H
LN ol & & |
- @ al [Hi
N | o 0 i | D i
= » S 0 P o i
& ) © O I
A © Szl i
Al - & |l
ml & & Jiiil
_ | o @ © 09000000000
Yy N~—T @J‘__ﬁ
L -M54I4=NFyh
4-M5 Insert nut
_ 30292 ) Lo
o (i
LN EIIZH—W_«H ® (=
l I
| I
I I
LN I I "
N I I — -
o I I n - B /Title N\ —
| I [TakacHl] #Rt&tt 2 HFEHTR B5 K - B EE h-74 & U4 2-RT 5K 93 O L
W TAKACHI ELECTRONICS ENCLOSURE Co., LTD. IP65 POLYCARBONATE PLASTIC BOX with OUTDOOR ROOF
L =M54 4= NFyh 380.8 &R /Approved | ¥ /Checked | #E/Created [&% /Product number RE/SCH[&}S
4-M5 Insert nut BCPR304018S —
PR iR =) 1/ 2
e B /Date 2021/03/01




[(x®&= : TY-34)2008.02.08

RfR / Internal View

XARIZFTIL—TEHTTOEEA,
Drawing does not include roof unit.

1 F

RT 14— (RR) H1/3— (N1R)
Base (Internal View) Cover (Internal View)
2 181 400
04 I:l I:l }e
[a iy N 5 il
Pany Pany X
YO0 0000000000y .
O
2 ©, ® é
FoN) R jﬂ
® ® 1
’o\ (B R A A B BN | A AN A A A @ ‘l@l:
e M AR AR AR A O AR RO CRR O \%Q
=T L TE=
L —M54y8-Myh L —M54Y8-rybh
4-M5 Insert nut L-M5 Insert nuf
O
P
N=)
=
>
[gu}
>
~
K — = &% /Title
j2 HRARU S HFRBIX B5 K - B B -7 & UA-A"2- KT 58903 O —
ﬁ TAKACHI ELECTRONICS ENCLOSURE Co., LTD. IP65 POLYCARBONATE PLASTIC BOX with QUTDOOR ROOF
N _ &I /Approved | R /Checked | #E/Created |E% /Product number RE/Scale
1R 1 & 2 /2
{ER B /Date 2021/03/01




	BCPR304018S Model (1).pdf
	BCPR304018S Model (2).pdf

